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Operations with Vectors in ai + bj Form

Given scalar oo and v = ai + bj

av = (aa)i + (ab)j

=2 =2i + 3j

Given scalar oo and v = ai + bj

av = (aa)i + (ab)j

o=3 =-2i-3j
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Given v = a1 + bij and w = 21 + boj

+w = (a1 + m)i + (b1 + b)j

=5i+3] w=i+4j
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Given v = a1 + bij and w = m21 + boj

+wW = (a1 + m)i + (b1 + b)j

=7i+2] w=-3i+3]
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Given v = 211 + bij and w = 21 + boj

+wW = (a1 + m)i + (b1 + b)j

=3i-8] w=-9i+]j
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Given v =211 + bij and w = a21 + boj

+w = (a1 + a)i + (b1 + bo)j

=7i+2j w=-3i+3;]
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Given v = 2i — 5j and w = -4i + 3j
find the following.

2v + 2w
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Given v = 2i — 5j and w = -4i + 3j
find the following.

2v + 2w 3v —4w = 3v + -dw

© iTutoring.com

Operations of Vectors in ai + bj Form
Po A



Given scalar oo and v = ai + bj

av = (aa)i + (ab)j

Given v = 211 + bij and w = 201 + byj

+ W = (611 + az) + (b1 + bz)]
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